AF0 6 AE S

T AL WY — % = 51 1

b

EPH GBS H)

:"i I =\
3 % H

HH

=

=



® i
IR A

BB AT G 2 FERBL I DO et ceeeenees
HEEAR L

Wil R (RO TN TRy —aR %) eeeeeeee



[BEREHR fEHLAR]

EXH0: T
3. R4 (1. oG | 8|7 mESEIEEE | =E7 7
B2 | FERESGAeES EERESCCLMERMEEE | X9 #in
1 BXOEN-BE

ERREXRLLT. SNFTH>TEEOELUD KRR MBEHKICLORBBZEHFEX

THOFEEICHITHERBIFRTMHFIHL . MG EE 1 EHFHYIHAXIKET 5,
Flz. AHBFAOMERFELTEHRBFICEVTEFTIN TS IBRUTDREIAHZY

2HMEXIET %

HIHEEORE
Z951m,

ERITHEMGEHFISHL, RICKIBEZETH1-0. R THIEZ

THSEE ~ TH6EEXE

SHEX%iE

JERBiH T
1073 G ft /=i

FERBHFRAEEE

JEEREEF  SHABAN R
SRR 7501 E

#HIF %8 24,688FH
T8 22,500FH

EHKE . 2,188FH
(iR - EE24,375FH)

ZELME
5HM#T /AN

FRBEHFELMERTEEE

CELME 2FAET A
%14 - 150 A (701H45)

#HIEEE 4568 F M
¥Br&: 3,000FH

E£HKE . 1568FH
(BHR:-E&3,175FH)

2 SAMLIERZHTE

2 HEMIR

X1 BEARFRUT v 15K (BTHSERMXEFEE) TITS

Pl e IS B R X AR A B A ERRF R A1 & (ED)

’o—~

27,550FH




EETE e o (EERR HIF
;|7.BILE BH.ALE B (3. liSEXIEEx FIFR 7
X2 |DEESEXKEE(EOH TIEITRI—R %) X4 g )
gg% 33,077 *I? = 33,077 (4 )
WER =
- Bt [~ Z D1t
b M
#IEAE 33077 g; BT {E — B

K- RO THROELLEGELET X

REKAEBICEYRIADEIENFENTODHR, EPORBOER, REFTRIHX
HASEHRADRIBERBL, SN TRULGELLENET SELHITHIEEZEDITE
LEXIET A6, TADESHTHATES1 AH=Y3,000A2DI—R HxEHTRIZE R

ERAD

®—KROHEHE

e 28,851 F M FHEF12A31 AR M T
RITHEE (B R— A - Y 3FF) XIARE ;LI\:iét;l;_ﬂ_EEEEﬁ’&ﬁo'c
S 9,617

(500733 x 64%0) s |[HeE sy
EXHEHWM EEEXE
SH7E3/ 18 SHIE4R
{55 FR HA R ~ & HAR ~
SH7E586H SHMTESA K
@& Bk E &
INFETEROHOIESHICIZ . V—R % F AR E CICEIRESHE DL FTIZERY
#HE
O T RI—RUEEREINR
E [ {5 FAEAR EEEHB HEEW |IIRIER BEER
BB |[SF3EIB~SHIE4IR |aesEExiE| 9,709 105 96.7%
20 |SF3F12A~4F4FE1R |meseaxiE( 96614 106 97.3%
3EEB |[HF4FTR~FMAFI08 [£EFEXIE 9,585 A\ 140 97.5%
4ElE [HF4F12B~FH5F1H [£EFEXIE 9,611A 142 98.2%
5EIE [HF5FEIR~FMSF4R [EEFEXIE 9,609 A 140 98.5%
6EIE [HISFETA~FMSFIA [£EFEXIE 9,583 A 142 98.0%
TEIE |[SFM5FE12B~SF6F1H [£EFEXIE 9572\ 142 98.5%
8EIE |[HF6FEIR~FM6FSA |[EEFEXIE 9,587 A\ 143 98.2%
OFEXXRTTVa—)L
RFHA 15 H &%
1A TaI~2A %4 SRR VER - V—R ZENRI - $7 5
2B A ~28 T4 H—iR Bk w5399
3818~ J—iR #E AR
O ERR
Wit = B xF 16 B R 2 iR M A B £ BRI (F) 33,077 +H




